FISEBE PIOFEIHIRERE
@ XA DER (B M)
¥ B ¥ HE | R B 8| KERER w &
= = 49,000 69, 000 20, 0001, 000F x FE~69A
Bl B ® 50, 000 50, 000 (\ER:EE S
w o 2 140, 000 140, 000 OSSR BHE (XEORRRR
5 # % 96. 000 o A 96, 000[FERI T BERFECFUARES
F O = 1,000 10, 000 9, 000|EAF 4
A ERE 466, 437 466, 437 0
# Ol A 563 2 A 561 |ESFE
&t 803, 000 135, 439 A 67, 561
@ HDER (BHI:M)
¥ B ¥ E OB R E | LBEH wH =
=1 & 0 0 0
= i3 & 30, 000 0 30, 000
% = A & 90, 000 9, 006 40, 994 |#tE - b —
# & % & 30, 000 23,192 6, 8081 - % Mty - FER
IhF 110, 000 32,198 117,802
~ i = 2,000 2, 711 A T |B%K
2 w5 = 3., 000 0 3, 000
' INE 9, 000 2,111 2,289
£z i #® 0 0 0
RREERHNEE 220, 000 2,020 217, 980 |2 =880 VARKFIVEIRIK %
= XimEE 50, 000 34, 508 15, 492 |4 X m B £ BRI REHRL S
§ B E % 150, 000 92, 216 57, 784|HHHE * SRS - 7T AR - FERC
mmEE | o) ozl o e0205800 D PR,
NE 600, 000 371,967 222,033
¥ wm E 88, 000 0 88, 000
&t 803, 000 412, 876 390, 124
IRA&ET XA TREE (REEEMER)
735,439 | — 412,876 M = 322,563 M




